

ABC Bid Data

STATEWIDE TIER 2 (N) 43288 X-A005(069)

PROJECT:						
STATE PROJECT NUMBER: FED. PROJECT NUMBER:	X-A005(069)	Awarded To:	GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220			
DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	April 22, 2021, 2:00 Preservation treatments along US 2, 3 & 302 & NH 16 & 26 September 17, 2021 Carroll, Coos, Grafton, Belknap	Amount: Award Date:	\$1,843,025.08	Certified by:	PETER.E.STAMNAS Director of Project Development	
	Sumn	nary of Bidders				
Contractor					Bid Amount	Rank

	Bid Amount	T Carin
GMI ASPHALT LLC	\$1,843,025.08	А
288 LACONIA ROAD, BELMONT NH 03220		
PIKE INDUSTRIES, INC.	\$1,907,002.80	В
3 EASTGATE PARK ROAD, BELMONT NH 03220		



ABC Bid Data

STATEWIDE TIER 2 (N)

X-A005(069)

				PS&E		GMI ASPHALT LLC 288 LACONIA ROAD BELMONT, NH 03220		PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	207.00	\$5.50	\$1,138.50	\$3.50	\$724.50	\$5.00	\$1,035.00
203.5561	EAGRT PLATFORM PREFERRED	U	1.00	\$1,400.00	\$1,400.00	\$1,700.00	\$1,700.00	\$1,350.00	\$1,350.00
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	2.00	\$1,500.00	\$3,000.00	\$1,700.00	\$3,400.00	\$1,500.00	\$3,000.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,441.70	\$32.00	\$78,134.40	\$20.00	\$48,834.00	\$28.00	\$68,367.60
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	34.00	\$250.00	\$8,500.00	\$150.00	\$5,100.00	\$150.00	\$5,100.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	12,077.00	\$4.00	\$48,308.00	\$3.00	\$36,231.00	\$3.50	\$42,269.50
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	16,921.80	\$80.00	\$1,353,744.00	\$72.60	\$1,228,522.68	\$72.00	\$1,218,369.60
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	900.00	\$80.00	\$72,000.00	\$75.00	\$67,500.00	\$72.00	\$64,800.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	5,950.00	\$5.00	\$29,750.00	\$5.10	\$30,345.00	\$5.50	\$32,725.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	3,540.00	\$3.50	\$12,390.00	\$2.80	\$9,912.00	\$1.00	\$3,540.00
563.307	BRIDGE RAIL T101 (RETROFIT)	LF	12.50	\$155.00	\$1,937.50	\$300.00	\$3,750.00	\$700.00	\$8,750.00
604.0007	POLYETHYLENE LINER	EA	33.00	\$140.00	\$4,620.00	\$130.00	\$4,290.00	\$125.00	\$4,125.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	33.00	\$450.00	\$14,850.00	\$525.00	\$17,325.00	\$500.00	\$16,500.00
604.72	GRATES & FRAMES, TYPE B	EA	15.00	\$575.00	\$8,625.00	\$660.00	\$9,900.00	\$650.00	\$9,750.00
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	12.00	\$90.00	\$1,080.00	\$100.00	\$1,200.00	\$95.00	\$1,140.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	12.00	\$20.00	\$240.00	\$100.00	\$1,200.00	\$15.00	\$180.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	2.00	\$3,150.00	\$6,300.00	\$4,000.00	\$8,000.00	\$3,300.00	\$6,600.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	2.00	\$2,900.00	\$5,800.00	\$3,800.00	\$7,600.00	\$3,000.00	\$6,000.00
606.1285	BEAM GUARDRAIL (BRIDGE APPROACH UNIT)	U	1.00	\$4,000.00	\$4,000.00	\$4,900.00	\$4,900.00	\$6,500.00	\$6,500.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	175.00	\$30.00	\$5,250.00	\$41.00	\$7,175.00	\$30.00	\$5,250.00
606.91	RESETTING OR SETTING GUARDRAIL	LF	337.50	\$17.00	\$5,737.50	\$15.00	\$5,062.50	\$12.00	\$4,050.00
606.91455	RESETTING TERMINAL UNIT (TYPE EAGRT, TL 2)	U	1.00	\$1,320.00	\$1,320.00	\$1,050.00	\$1,050.00	\$1,200.00	\$1,200.00
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	175.00	\$19.00	\$3,325.00	\$12.00	\$2,100.00	\$8.50	\$1,487.50



ABC Bid Data

STATEWIDE TIER 2 (N)

43288

				PS&E		288 LAO	SPHALT LLC CONIA ROAD NT, NH 03220	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
618.7	FLAGGERS	HR	845.00	\$38.00	\$32,110.00	\$38.00	\$32,110.00	\$38.00	\$32,110.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$110,000.00	\$110,000.00	\$12,000.00	\$12,000.00	\$35,000.00	\$35,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,500.00	\$5,000.00	\$1,700.00	\$3,400.00	\$2,000.00	\$4,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	22.00	\$5.50	\$121.00	\$7.00	\$154.00	\$5.00	\$110.00
621.31	SINGLE DELINEATOR WITH POST	EA	8.00	\$50.00	\$400.00	\$65.00	\$520.00	\$55.00	\$440.00
621.32	DOUBLE DELINEATOR WITH POST	EA	3.00	\$60.00	\$180.00	\$75.00	\$225.00	\$60.00	\$180.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	802,340.00	\$0.15	\$120,351.00	\$0.21	\$168,491.40	\$0.19	\$152,444.60
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	416.00	\$2.43	\$1,010.88	\$3.50	\$1,456.00	\$2.00	\$832.00
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	286.00	\$4.39	\$1,255.54	\$5.50	\$1,573.00	\$4.00	\$1,144.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	18.00	\$10.00	\$180.00	\$14.00	\$252.00	\$8.00	\$144.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	701.00	\$1.94	\$1,359.94	\$2.00	\$1,402.00	\$1.00	\$701.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	18.00	\$5.00	\$90.00	\$6.00	\$108.00	\$4.00	\$72.00
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	740.00	\$2.25	\$1,665.00	\$2.20	\$1,628.00	\$3.00	\$2,220.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	227.00	\$5.50	\$1,248.50	\$9.00	\$2,043.00	\$4.00	\$908.00
645.531	SILT FENCE	LF	227.00	\$3.80	\$862.60	\$3.00	\$681.00	\$4.00	\$908.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	740.00	\$10.00	\$7,400.00	\$9.00	\$6,660.00	\$5.00	\$3,700.00
670.0661	MULTIPLE MAILBOXES SUPPORT ASSEMBLIES	EA	1.00	\$300.00	\$300.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00
692.	MOBILIZATION	U	1.00	\$120,000.00	\$120,000.00	\$24,000.00	\$24,000.00	\$75,000.00	\$75,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
			Totals:		\$2,154,984.36		\$1,843,025.08		\$1,907,002.8
			Alt. Totals:						



STATEWIDE TIER 2 (N)

43288

				A-Bid	der	PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	207.00	\$3.50	\$724.50	\$5.50	\$1,138.50	(\$414.00)
203.5561	EAGRT PLATFORM PREFERRED	U	1.00	\$1,700.00	\$1,700.00	\$1,400.00	\$1,400.00	\$300.00
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	2.00	\$1,700.00	\$3,400.00	\$1,500.00	\$3,000.00	\$400.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,441.70	\$20.00	\$48,834.00	\$32.00	\$78,134.40	(\$29,300.40)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	34.00	\$150.00	\$5,100.00	\$250.00	\$8,500.00	(\$3,400.00)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	12,077.00	\$3.00	\$36,231.00	\$4.00	\$48,308.00	(\$12,077.00)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	16,921.80	\$72.60	\$1,228,522.68	\$80.00	\$1,353,744.00	(\$125,221.32)
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	900.00	\$75.00	\$67,500.00	\$80.00	\$72,000.00	(\$4,500.00)
417.	COLD PLANING BITUMINOUS SURFACES	SY	5,950.00	\$5.10	\$30,345.00	\$5.00	\$29,750.00	\$595.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	3,540.00	\$2.80	\$9,912.00	\$3.50	\$12,390.00	(\$2,478.00)
563.307	BRIDGE RAIL T101 (RETROFIT)	LF	12.50	\$300.00	\$3,750.00	\$155.00	\$1,937.50	\$1,812.50
604.0007	POLYETHYLENE LINER	EA	33.00	\$130.00	\$4,290.00	\$140.00	\$4,620.00	(\$330.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	33.00	\$525.00	\$17,325.00	\$450.00	\$14,850.00	\$2,475.00
604.72	GRATES & FRAMES, TYPE B	EA	15.00	\$660.00	\$9,900.00	\$575.00	\$8,625.00	\$1,275.00



STATEWIDE TIER 2 (N)

43288

				A-Bide	der	PS8	λE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	12.00	\$100.00	\$1,200.00	\$90.00	\$1,080.00	\$120.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	12.00	\$100.00	\$1,200.00	\$20.00	\$240.00	\$960.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	2.00	\$4,000.00	\$8,000.00	\$3,150.00	\$6,300.00	\$1,700.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	2.00	\$3,800.00	\$7,600.00	\$2,900.00	\$5,800.00	\$1,800.00
606.1285	BEAM GUARDRAIL (BRIDGE APPROACH UNIT)	U	1.00	\$4,900.00	\$4,900.00	\$4,000.00	\$4,000.00	\$900.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	175.00	\$41.00	\$7,175.00	\$30.00	\$5,250.00	\$1,925.00
606.91	RESETTING OR SETTING GUARDRAIL	LF	337.50	\$15.00	\$5,062.50	\$17.00	\$5,737.50	(\$675.00)
606.91455	RESETTING TERMINAL UNIT (TYPE EAGRT, TL 2)	U	1.00	\$1,050.00	\$1,050.00	\$1,320.00	\$1,320.00	(\$270.00)
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	175.00	\$12.00	\$2,100.00	\$19.00	\$3,325.00	(\$1,225.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
618.7	FLAGGERS	HR	845.00	\$38.00	\$32,110.00	\$38.00	\$32,110.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$12,000.00	\$12,000.00	\$110,000.00	\$110,000.00	(\$98,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,700.00	\$3,400.00	\$2,500.00	\$5,000.00	(\$1,600.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	22.00	\$7.00	\$154.00	\$5.50	\$121.00	\$33.00
621.31	SINGLE DELINEATOR WITH POST	EA	8.00	\$65.00	\$520.00	\$50.00	\$400.00	\$120.00
621.32	DOUBLE DELINEATOR WITH POST	EA	3.00	\$75.00	\$225.00	\$60.00	\$180.00	\$45.00



STATEWIDE TIER 2 (N)

43288

				A-Bide	der	PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	802,340.00	\$0.21	\$168,491.40	\$0.15	\$120,351.00	\$48,140.40
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	416.00	\$3.50	\$1,456.00	\$2.43	\$1,010.88	\$445.12
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	286.00	\$5.50	\$1,573.00	\$4.39	\$1,255.54	\$317.46
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	18.00	\$14.00	\$252.00	\$10.00	\$180.00	\$72.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	701.00	\$2.00	\$1,402.00	\$1.94	\$1,359.94	\$42.06
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	18.00	\$6.00	\$108.00	\$5.00	\$90.00	\$18.00
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	740.00	\$2.20	\$1,628.00	\$2.25	\$1,665.00	(\$37.00)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	227.00	\$9.00	\$2,043.00	\$5.50	\$1,248.50	\$794.50
645.531	SILT FENCE	LF	227.00	\$3.00	\$681.00	\$3.80	\$862.60	(\$181.60)
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	740.00	\$9.00	\$6,660.00	\$10.00	\$7,400.00	(\$740.00)
670.0661	MULTIPLE MAILBOXES SUPPORT ASSEMBLIES	EA	1.00	\$500.00	\$500.00	\$300.00	\$300.00	\$200.00
692.	MOBILIZATION	U	1.00	\$24,000.00	\$24,000.00	\$120,000.00	\$120,000.00	(\$96,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00

Total: